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e pbest possible thing

to do is @ to simply )ad. Surp , the more one widens the road,

the more congested the road becomes. [N Th|s is because wider roads reduce barriers to

to increase competition among carmakers n prices, leading to still more cars

driving. B This, in turn, increases the demand for cars. *;{Increased demand for cars tends
T‘?__ l-)é'r |

on the road.}* ~
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Small children have smaller stomachs. They need concentrated foods, high in calories

but low in volume. This is one of the main causes of infant malnutrition. X In many
countries, children are poorly fed but adults are not. It would be a mistake to believe that
adults eat everything and leave nothing for the children. Parents (and especially mothers)
watch out for their children. [El They would happily give up their own food in order to feed
their children. The problem is that many times the only food available to families consists
of vegetables and roots high in fibre but low in calories. @ Adults can eat all they need,
as their stomachs are big enough. And in enough quantity, any food will fatten a person.
Small children, as hard as they try, cannot eat the amount of vegetables needed, because
they don't have enough room in their stomach.
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Suppose you wish to determine which brand of microwave popcorn leaves the fewest

unpopped kernels. You will need a supply of various brands of microwave popcorn to test,
and you will need a microwave oven. [N If you used different brands of microwave ovens
with different brands of popcorn, the percentage of unpopped kernels could be caused by
the different brands of popcorn or by the different brands of ovens. El Under such
circumstances, the experimenter would be unable to conclude confidently whether the
popcorn or the oven caused the difference. To eliminate this problem, you must use the
same microwave oven for every test. [@ In order to reasonably conclude that the change in
one variable was caused by the change in another specific variable, there must be no other
variables in the experiment. By using the same microwave oven, you control the number

of variables in the experiment.
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If we are planning on reducing congestion on a busy roadway, the best possible thing
to do is to simply widen the road. Surprisingly, though, the more one widens the road,
the more congested the road becomes. I This is because wider roads reduce barriers to

driving. This, in turn, increases the demand for cars. Increased demand for cars tends to
increase competition among carmakers and drive down prices, leading to still more cars
on the road. B *{Without regulations, carmakers are unlikely to invest in reducing
emissions, even if their profits rise and technology advances.}* Wider roads and cheaper
cars also allow people to move to cheaper places farther from major downtown economic
areas. [@ This increases driving time and puts more cars on the road still. People become
more and more dependent on the car until it is strange not to own one. So, more
infrastructure still is devoted to the car and more cars end up on the road.
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Paying attention to one thing @ necessarily comes at the expense of another. Letting

your eyes get too taken in by all of the scientific equipment in the laboratory @ prevents
you from noticing anything of significance about the man in that same room. We cannot
allocate our attention to multiple things at once and expect it to function at the same
level as it would @ were we to focus on just one activity. Two tasks cannot possibly be

in the attentional focus at the same time. One will inevitably end up being the focus, and
@ the other —or others —more like irrelevant noise, something to be filtered out. Or
worse still, none will have the focus and all will be, @ although slightly clearer, noise,
but degrees of noise all the same.
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this. @ It has continued its sudden rise since the 1930s, and now one of every three

people in the United States will get cancer in their lifetime. Switch to a raw food diet and

foodist.
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Formal appraisals are a very important part of the overall communications an employee
receives concerning job performance. N However, if feedback is received only once
during the year, it will fall short of meeting its ultimate objective. For an employee to
receive feedback that can truly help him or her improve performance, it must be
provided on a regular and more frequent basis. Bl If there are areas of improvement to
be addressed, they should not be "saved up" until the time of the annual appraisal
before being communicated to the employee. @ Similarly, feedback about an individual's
good job performance should also be communicated and reinforced on a frequent and

regular basis. Set up quarterly discussions, for example, or be careful to do them as
projects come to an end or at other appropriate times.
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